Choose the best option.

1. When the wind turbines turn, ___ is generated.
a) wind

b) electricity

c) pollution

d) solar energy

2. Wind turbines need _ to work.
a) environment

b) farms

c) electricity

d) wind

3. Farmers

a) produce their own energy.

b) buy and sell wind turbines.

c) store the wind power.

d) make money from wind farms.

4. Farmers cause

a) less energy to be produced.

b) a decrease in the number of trees.

c) less pollution than businesses and homeowners.
d) unreliable energy to be produced.

5. The main idea of this passage is:

a) Wind turbines have both advantages and disadvantages.

b) The advantages of wind turbines outweigh their disadvantages.

c) The disadvantages of wind turbines outweigh their advantages.

d) The most serious disadvantage of the wind turbines is that they cause damage to wildlife,



